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Y71 Edn] ¢ -732,0009 * 17HaL = -732,000
2. 5 XA u A G = 222,967 128,266 94,701 | F-AFF21H] ¢ 41,0009 = 14xL = 41,000
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1. RGN GA = 3,000 1,000 2,000
LIz]AREAE & 2,000 0 2,000
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#10A] 7}=
A4 W& 7] 1 -80,000#15]= -80,000
2. 0 52-gH| 1,280 0 1,280 g(jf) %(%jiggfi—g%f%ﬁ] 1,200,000
1A W& _7HAH] 1 16,0009%53]= 80,000
2. [2]912H =Y 1,000 1,000 0
1. &89 n) 1,000 1,000 0
3.4 9 13,961 13,640 321
1A 13,961 13,640 321
1.[z]oedguey 13,961 13,640 321
1.4 ¥kEgH 600 600 0
2. WEg-Fu| 12,681 12,360 321 [AA A DA A 854+ 321,000 #135]= 321,000
3. B AAG 1A 680 630 0
4,352 94 16,214 16,214 0
1.45489 500 500 0
LIz]EEHeY 500 500 0
1. 0590 500 500 0
2. ARG 15,714 15,714 0
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5.0897 A 21,630| 21,630 0
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2. 1FE TG 16,830 16,830 0
T2 A 3,000 3,000 0
1.3 3,000 3,000 0
177,375 106,635 70,740
104,263 38,630| 65,633
(Rt 21,880 20,920 960
JagdE9 5,400 5,400 0
1. YR 310 2,400 2,400 0
2. AAFY TN 3,000 3,000 0
483 15,660 14,700 960
1. 9Rk=-8-H] 3,800 3,800 0
2.7 eEEF8 T 100 100 0

3,094 11,280 10,320 960 | TS Z1] 40,0009 %4 %63] =
4. QW] 320 480 480 0
! 820 820 0
1. dnkpgn) 580 580 0
2. Rk Fx] 240 240 0
71889 82,383 17,710| 64,673
Al FFaa 2 r 3} 3,700 3,700 0
1.871 9% 3,000 3,000 0
2. 4% RE 600 600 0
3EEETaT 100 100 0
Z]HAY AR A 8,423 5,550 2,873
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4. [FIE]IFAY T84 60,000 0 60,000
(A-A_2F)NAS AN AALG Y] -
1.98kE8n 58,800 0 58,800 - 30,000,000
Shanl 30,000,000 #13]=
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g 20,000,000
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1.4719%2 14,400 14,400 0
2. Asrra 4,200 4,200 0
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1.5 1,650 1,650 0
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